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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in _zero mark in that question.

I-1 |If f(x)=3-+/x then f'(1) is equal to :

A -3 ®) 0 © 3 D) 1
2 | 7

4'{[ sin2xdx = :

(A) 4-242 B) ‘ﬁ—g © 3 é
T ¢

c ’
A -4 @) -2 ©) £ o %
b a a

4 Ifnxdx=: .\9
22
(A) ;‘;+c (B) s * ©) (f’;‘) s (D) s(lme=-D3ee

5 |Let f(x)=+v1-x* in R theRg@main of f is :

(A) Real number\o (B) |x[<1
(C) Negativ ers (D) Integers

If x%' & thenk = :
x

(ANG (B) - (©) —’35 ®

7 | If f(x) has second derivative at ¢ such that f'(c)=0and f"(c) <0then c is point of :

(A) Maxima (B) Minima (C) Point of inflection (D) Origin
& If y=cotx, then % is given by :

(A) cosec’x (B) —cosec’x (C) tanx (D) —cosecxcotx
" e

(A) tan"]§+c (B) étan“%ﬂ: (C) %tan“lg-kc (D) -{I;Ian_'%wc

( Turn Over)



@)

1-10 dy
F =log,5x ,— =
or y=log,5x e
2| 1
Ay = B) 5 (€} — D) 1
% S5x
11 | The straight line y =mx+c is tangent to the parabola y? =dax if :
2
@A) =2 (B) c== ©) c== (D) c=am
m a m
12 | y-coordinate of any point on x-axis is :
(GYIRY B) x ©) 1 D) y
13 | The volume of parallelepiped determined by u=i+2j -k ,v=i-2j+3k,
w=i—7j -4k is :
(A) 48 (B) 50 (C) 52 @
14 | The distance between the centres of the circles x>+ y* +2x+2y 4,0 d
x>+ y*—4x—6y-3=0is : o
(A) 1 (B) 4 : (C) 5 (D) 15
15 |If a+ b+ c¢=0 then which one is correct : < ‘
(A) axbxc=0 B) axb= bx
C) a.b=b.e=c.a D) a=9
16 | The x-intercept of the line 2x+3
1
(A) 2 ’b» o) L
17 | The graph of 2x - 3y
(A) Onthe 0rig1 (B ) Not on the origin side
(C) Notde d (D) Through the origin
18 | The ar triangle having g and & as its two sides is given by :
@ I I 1
a.b| ®) a0l (€) |axb] D) -|axb|
19 | Homogeneous equation of second degree ax” +2hxy +by® =0 where a, b, h are
not all zero, represents two imaginary lines if :
(A) K =ab (B) W >ab (C) h*<ab (D) h=ab
20 2 2

The eccentricity of the ellipse gl =10
64 28

4 3 4
Bl = (€) \/; (D) \E

(A)

Bjw
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, SECTION - I LHR—1-34
2. Write short answers to any EIGHT (8) questions : 16

(i) Prove that cos h2x—sinh’x=1

(i) If f(x)=+x+4 thenfind f(x-1)
i x-3

iii) Evaluate Lim —=———=

(e I I

1-cos2x

2
X

(v) Differentiate y= (x2 +35) (x3 +7) with respect to x.
2

(iv) Evaluate Lim
x—0

(vi) Differentiate with respect to x.

x -3
(vii) Find derivative of (x3 +1 )9 with respect to x.
(viii) Differentiate cos~/x ++/sinx with respect to the variable invo lvedo

P a'y . 2 1

ix) ==21f y=e* " o

(ix) e )

(x) Find Maclaurin Series for sinx o

(xi) Determine the interval in which fx)=4- x* ,xe increasing or decreasing.

(Xll) Find f'(x) if”- _f‘(.‘-l'.')z H-En(ez" +e:ﬂ3— &
e

3. Write short answers to any EIGHT (8) questim\

(i) Using differential to find % if xw
3

(i) Evaluate j(a~2x)2 Q@

(ii1) Evaluate j dxo

16

dx
x?+2

1

(vi) Find the area bounded by cos function from x = -i§- to x= %

(vii) Solve the di fferential equation % = _y_z_
X

(viii) Find h such that A(—l,h),B(3,2)andC(?,3)arecollinear‘

(ix) The coordinates of a point P are (3,2). The axes are translated through
the point O'(1,3). Find the coordinates of P referred to new axes.

(x) Find k so that the line joining A ( 7,3);B (k,-6)and the line joining
C(—4,5);I)(—6,4)areparallel.

(xi) Find the point of intersection of the lines x—2y+1=0and 2x-y+2=0

(xii) Find measure of the angle between the lines represented by 9x? +24xy +16 y2 =0
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)
4. Write short answers to any NINE (9) questions :

(i) Graph the solution set of inequality 3x—2y2>6

(ii) Define feasible region.
(iii) Find the equation of circle whose ends of diameterare (= 3,2 )and (5,-6)

(iv) Find the position of the point ( 5, 6 ) w.r.t the circle 2x% + 2y2 +12x—-8y+1=0
(v) Find the focus and vertex of parabola y2 =-8(x-3)

(vi) Find the eccentricity of ellipse x> +4)? =16
2
(vii) Find the centre and eccentricity of the conic yj — ¥ =1

(viii) Identify the conic represented by 4x* —4xy+ y* —6=0

- . A
(ix) Find the work done by a constant force F=2i + 4 j, if its point of application to
abody movesitfromA(1l.1)toB(4,6)

(x) Find the value of “ o ” such that aji+j,i+j+3k and 2j+:;"—25:_ C
(xi) If I¢’=2i—j+k and v"}z4f+2j—k find 7 x ¥ 6
(xi1) Find a vector whose magnitude is 4 and is parallel to 2i-3/ @

(xidi) If A(1,~1 ),B(Z,O),Cdg:l ,3)andD (-2,2) _gw.
sum of the vectors AB and CD 6
SECTION -1I 0
Note : Attempt any THREE questions.
5. (a) Find m andn , so that given function f i %us atx=3
mx if x<3 K
g =4 B if x=3

-2x+9if x>3

b) Prove that —E+#0 2—
() Faveths ydr \GJH " 1+r

6 (&) If p=e™ ,

ints, find the

S that -~—+a y=0

(b) E eﬂnite integral j vxl-a?
7. (a) S lhe differential equation 2¢” tan ydx+(1—e* )sec2 ydy=0

(b) Maximize f(x,y)=x+3y subject to the constraints
245y <30 ; 5x+4y <20, x20,y=20
8. (a) Find equations of the tangents to the circle x2+ yz =2 perpendicular to the line 3x+2y =6

(b) Using vectors, prove that sin(« + 8)=sina cos f+cosasin

042’ (-2
16

9. (a) Find centre, foci, eccentricity, vertices and equation of directrices o

(b) Find the equations of altitudes of the triangle whose vertices are
A(-3,2),B(5,4),C(3,-8)
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